
 

  A. 
4-4x + 5 + 2 = 18 

Green 
Log5(3x+8) = log5(6x-5) 

B. 
2 + 81x-2 = 11 

Purple 
log4(12x+4) = 3 

C. 
25x+3 + 10 = 35 

Yellow 
log7(16x+9) = 2 

D. 
63x+7 = 36x+6 

Red 
log3(8x-3) = 3 

E. 
4x+3 = 162x-5 

Pink 
(4x - 1) log 9 4 = log 9 16 

F. 
8x-6 = 1

25Z-12
 

Brown 
log2(8) + log2(2-7x) =7 
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A scatter plot is a set of points on a grid, used to 
visualize a possible trend in the data.

Power Regression is one in which the response variable is 
proportional to the explanatory variable raised to a power.



Linear regression works when the outcome is continuous 
(if this, than this). Logistic regression works when the 
outcome is binary. Trying to use linear regression on a binary 
outcome variable simply won’t work (well).

Logistic regression generates a model that allows you to 
predict the probability of success, given a certain x-value. 
Data that you put into the model will only include actual 
outcomes (at a given X value, a success either was
observed or it was not).



Kinds of problems you can use logistic 
regression for.

Spam Detection : Predicting if an email is Spam or not
Credit Card Fraud : Predicting if a given credit card transaction is fraud or not
Health : Predicting if a given mass of tissue is benign or malignant
Marketing : Predicting if a given user will buy an insurance product or not
Banking : Predicting if a customer will default on a loan.

Show me!



A logarithmic regression function is the equation of a 
curve of best fit when the scatter plot loots like a 
logarithmic function. 

Using a calculator, the regression uses natural logs, 
y=a+blnx

https://mathbits.com/MathBits/TISection/Statistics2/power.htm
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MONETARY GROWTH 
You inherit $5,000 from your long lost Uncle Harold.  The bad news is that the money must sit in a bank account for 
the next ten years until you can use it.  The account earns 7.2% interest, compounded annually.  This means that you 
will need to multiply the amount of money by 1.072 to determine how much money remains at the end of the next 
year. 

Fill in the chart below to determine how much money is in the account at the end of each year.   
Round to the nearest penny! 

# of years 0 1 2 3 4 5 6 

$ in account 5000 5360 5745.92 6159.63 6603.12 7078.54 7588.20 

 
Use the chart above to create a graph. 

UQcOH HaUROd¶V CaVK GUaSK 
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According to the chart, approximately when will your original inheritance double in size? 

10 years 

 
The compounded interest formula is pictured below.  Create a formula using the information from the Uncle Harold 
story. 

 

 
Uncle Harold Formula: 

Use this formula to find the balance (the amount of money that would be in the account) at the end of ten years.   

equation: 𝑨 ൌ 𝟓𝟎𝟎𝟎ቀ𝟏 + .𝟎𝟕𝟐
𝟏
ቁ
𝟏𝟎

                             balance: $10,021.16 

 

Use this formula to find the balance if you let all of the money earn interest for 20 years.  (Show work below.)  

equation: 𝑨 ൌ 𝟓𝟎𝟎𝟎ቀ𝟏 + .𝟎𝟕𝟐
𝟏
ቁ
𝟐𝟎

                             balance: $20,084.72 

 

PORW WKHVH WZR SRLQWV RQ WKH UQFOH HaUROG¶V CaVK GUaSK aQG FRnnect all of the points on the graph.  Label this line: 
³M\ MRQH\´ 
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You are surprised to learn that your brother also received money from Uncle Harold.  He only received $4000, but his 
account is earning 12% interest, compounded monthly.   

Write the equatLRQ WKDW UHSUHVHQWV WKH PRQH\ LQ \RXU EURWKHU¶V DFFRXQW RYHU WLPH. 
 

𝑨 ൌ 𝟒𝟎𝟎𝟎ቀ𝟏 ൅ .𝟏𝟐
𝟏𝟐
ቁ
ሺ𝟏𝟐𝒕ሻ

                             Fill in the chart below, using the equation above.  Remember that 

you should type (n∙t) in parenthesis! 

# of years 0 2 4 6 8 10 12 

$ in account 4000  5078.94 6448.90 8188.40 10,397.09 13,201.55 16,762.46 

 
PORW WKH SRLQWV RQ WKH 8QFOH HDUROG¶V CDVK JUDSK.  CRQQHFW WKH SRLQWV ZLWK D OLQH, DQG ODEHO LW: ³BRO¶S MONE<´. 

ASSUR[LPDWHO\ ZKHQ ZLOO \RXU EURWKHU¶V DFFRXQW KDYH PRUH PRQH\ WKDQ \RXUV? 

Between 4 and 5 years. 

 

How much more money ZLOO \RXU EURWKHU¶V DFFRXQW KDYH WKDQ \RXUV LI \RX ERWK OHDYH WKH PRQH\ LQ WKH DFFRXQWV IRU 
20 years? 

$23,485.50 
 

 

  


